
STAND CDR163
00310468577



O-Ring

WASHER

Brass Clutch Disc

Ball Bearing 12x28

Handle w/ collar

Ball Bearing

Armature Assembly

Cord ProtectorCord Protector

Insulator
Screw M5 x 30
Handle Middle
Screw M4 x 30
Switch
Screw M4.2 x14
Screw M5.5 x 80
Handle Cover

Front Handle

Electric Clutch Modul
Air Vent Cover
Screw Brosh Cover
Brush Cover

Power Cord
SCrew M5 x 16
Lock Washer M5 
Water Inlet Cover
O-Ring
Water Pipe Inlet Asm
Water Hose
Gasket
Valve
Water Quik Clamp Con

O-Ring D3-250

Washer

Brass Clutch Dis

Ball Bearing

Handle w/Collar

Ball Bearing

Armature Asmb

Quik Hose Conn  USA Thread

Nut M12 x 1.25

Clutch Assembly Comp

Screw M4 x 20

Service  Kit

Motor Asmb (Armature,Field Wind
                        Brushes & Housing)502999   CASE
Brush All Cardi 230V

Brush All Cardi 120V 
(2)

HHDET 1800 Item Descriptions

cord ProtectorCord Protector



70184625022

70184625023

70184622493

70184625024

70184624633

70184622627

70184623871
70184622669
70184622705
70184622667
70184622626
70184622666
70184622665
70184622631

70184600982

70184623798
70184622628
70184622630
70184622629

70184622670
70184622495
70184622600
70184622425
70184622424
70184622494
70184622601
70184622602
70184622603
70184622604

70184622605

70184622668

70184625240

70184625711

70184622491

70184622490

70184625488

7018462738970184627839

70184627155

502999 70184623100

502997 Motor ASMB

Consists of Armature,
Field Windings,Brushes
and Housing


